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Twelve Times Tables
0x12=0 5x12=60 10x12=120
1x12=12 6x12=12 11x12=132
2X12=24 (X12=84 12X12 =144
3x12=36 8x12=96
4% 12=48 9x12=108

Have a go at some questions:

1)
2)
3)
4)
5)

2x12
6x12
8x22
10x12
11x12

Stretch your brain!

Cool fact: When you add up
the digits in a humber from the
12 times tables, they always add
up fo a humber in the 3 times
tables! E.g. 144 = 1+4+4 =9

1) There are 5 big tables at a party and each has 12 balloons on it. How
many balloons are at the party? Fill in the humbers: e

X =
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2) Every month, Henrietta the goose [ays 12 eggs. How many eggs does she

lay in onhe year? Fill in the humbers:

X =
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